7000 GeV pp W+Jet
';‘103:|_'|'|'|'|'|'|'|'|'|'|'|'|'|'|'|'|'|'|'|'|'|'|__
@, = _ =
o - Filtered Jet Mass(CA(1.2), 220<p <300, |y|<2.5) a
— B _|

2 —
510 ¢ =
) — .
© | ]
@)

s 10 =

o = =

S - -

— B _

1= =

: .’,' :

107 = E

102 = m CMS . =

—  --&3-- Herwig 7.1.4 default -

— —4— Pythia 8.165 default RN

1073 &= ¢ Sherpa 2.2.6 default =

1n~4 j_, I R PR PO RO NPT NN ARPU NPT SO AP N ! I'.'; I——’———‘—'L:’?

2 =

-4 | ]

%) B _

> I _

O B _
£ 1

kel _

IS B |

4
0.5 _|
| I L [ TN
0 200

Rivet 3.1.0, = 6.9M events

mcplots.cern.ch [arXiv:1306.3436]

N

0.5



	Contents
	Page 1


